O ZFERBE (1 2%
=n 1Tcm 50cm Tm = R o, w
No. e ENE | BAE | BME [ BAE [ BIE [ BAE | S ABAESH | A1~ -
1|HRFEREE 0.04 0.07 0.04 0.07 0.04 0.07|==I.FEHET 15
AlEFEREBE 0.03 0.04 0.03 0.04 0.03 0.04 6
FEFEREE 0.05 0.09 0.05 0.09 0.05 0. 09(xEAR—FHETLE 11
AEFEREE 0.06 0.13 0.05 0.11 0.05 0. 10|t TEAIREAE 9
S LEFERBE 0.05 0.17 0.06 0.12 0.06 0. 09|t EAIRAE 10
FFERBE 0.05 0.18 0.05 0.15 0.05 (VR 01) Bl icg URE s 11
IAHBAZEERBE 0.05 0.06 0.05 0.06 0.05 0.06 4
S RAHFERBE 0.05 0.10 0.05 0.10 0.05 0. 09|mafanqal;& 11
IIFEFERBE 0.05 0.22 0.05 0.11 0.05 0.08|dzrAmET 11
10|FRRFEEREE 0.07 0.07 0.07 0.07 0.07 0.07 3
N TEFEREE 0.05 0.18 0.05 0.08 0.05 0.07|FasRATRET 10
REAFEREE 0.05 0.06 0.05 0.06 0.05 0.06 4
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